TR 24 EEREREUEHE

A A R

AERER(uGy /91 H)
RAUK
2 % 1-H3HE % 2-TU3H] = 3.y = 4. Py HR
4R6B~7A58H) 7R4BE~10A48)
1 127 £ 05 *! 121 = 1.0** - —
2 135 £ 1.0 * 129 £ 1.1*4 - -
3 112 £ 15 *? 107 = 1.1 - —
4 146 =+ 20 *? 141 = 1.7 — —
5 158 = 1.1 153 £ 1.0*° — —
6 107 = 1.7 101 £ 1.5* - -
7 112 = 06 108 £ 1.9*° — —
8 140 =+ 06 *3 136 = 1.5 — —
9 120 £ 1.0 *3 116 = 0.6 — —
10 106 =+ 00 *3 102 == 1.5 - —

x 1 REHMIE4A58~7 A5 BTHS,
x2: REHMT486B~7 8 4BTHS,
*3: FREHMIT4 A5H~7T R 4BTH%,
x4 FREHMETAS58~10 A4 BTHS,
*5: REMMEIE7AS5B~10A5BTHS.
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